
  

 

 

B.Com. DEGREE EXAMINATION —  

JUNE, 2010. 

Third Year 

Bank Management 

COST ACCOUNTING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. State the functions of Cost Accounting. 

 AhUPÂø» PnUQ¯¼ß £oPøÍU TÖP. 

2. Distinguish between Bincard and stores ledger. 

 öPõÒP»ß Amøh ©ØÖ® \µUS ÷£÷µk 

BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

3. State the essentials of a good wage system. 

 J¸ |À» T¼ •øÓ°ß •UQ¯zxÁ[PøÍ 

SÔ¨¤kP. 
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4. Calculate wages according to Barth system. 

 Standard time - 10 hours ; 

 Actual time taken - 8 hours ; 

 Rate per hour is Rs. 5 

 £õºz •øÓ°À T¼°øÚU PnUQkP. 

 {ºn¯® ö\´¯¨£mh Põ»® & 10 ©oPÒ ; 

 Esø©°À GkzxU öPõsh Põ»® & 8 ©oPÒ ; 

 J¸ ©o ÷|µzvØPõÚ T¼ Ãu® ¹. 5. 

5. From the information given below, determine 

Break Even point in units. 

 Rs. 

Selling price per unit 16.50 

Trading discount per unit 1.50 

Fixed expenses (aggregate) 7,50,000 

Variable expenses per unit 11.00 

Units of production 3,00,000 units 

 RÌUPsh uPÁÀPÎ¼¸¢x »õ£ |mhªÀ»õ 
{ø»¨¦ÒÎ (A»SPÎÀ) PnUQkP. 

 ¹. 

ÂØ£øÚ Âø» (J¸ A»S) 16.50 

Â¯õ£õµ PÈÄ (J¸ A»S) 1.50 

{ø»¯õÚ ö\»ÄPÒ (ö©õzu®) 7,50,000 

©õÖ® ö\»ÄPÒ (J¸ A»S) 11.00 

EØ£zv A»SPÒ 3,00,000 A»SPÒ 
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SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the advantages and disadvantages of cost 

accounting. 

 AhUPÂø» PnUQ¯¼ß |ßø©PÒ ©ØÖ® 
wø©PøÍ ÂÍUSP. 

7. What do you mean by ABC analysis? What are its 

advantages? 

 ABC £S¨£õ´Ä GßÓõÀ GßÚ? Auß |ßø©PÒ 
¯õøÁ? 

8. Two components A and B used as follows.  

 Normal usage 3000 units per week each. 

 Minimum usage 1500 units per week each.  

 Maximum usage 4500 units per week each.  

 Re-order quantity A : 3000 units ; B : 4000 units. 

 Re-order period A : 4 to 6 weeks ; B : 2 to 4 weeks. 

 Calculate for each components : 

 (a) Re-order level 

 (b) Minimum level 

 (c) Maximum level and  

 (d) Average stock level 
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 A ©ØÖ® B BQ¯ Cµsk ö£õ¸mPÎß £¯ß£õk 
¤ßÁ¸©õÖ : 

 C¯À£õÚ £¯ß£õk Áõµ® JßÖUS 3000 A»SPÒ 

 SøÓ¢uÍÄ £¯ß£õk Áõµ® JßÖUS 1500 A»SPÒ 

 AvPÍÄ £¯ß£õk Áõµ® JßÖUS 4500 A»SPÒ 

 ©Ö Bøn GsoUøP  A : 3000 A»SPÒ 

     B : 4000 A»SPÒ 

 ©Ö Bøn Põ»®  A : 4 •uÀ 6 Áõµ[PÒ  
Áøµ ; 

     B :  2 •uÀ 4 Áõµ[PÒ 
Áøµ ; 

 JÆöÁõ¸ ö£õ¸ÐUS® PnUQkP : 

 (A) ©Ö Bøn AÍÄ 

 (B) SøÓ¢u AÍÄ 

 (C) AvP£m\ AÍÄ ©ØÖ® 

 (D) \µõ\› \µUS AÍÄ. 
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9. From the following particulars, write up the stores 

ledger under FIFO method 

Jan 1 Purchased 500 tons at Rs. 2.00 per ton 

 10 Purchased 300 tons at Rs, 2.10 per ton 

 15 Issued 600 tons 

 20 Purchased 400 tons at Rs. 2.20 per ton 

 25 Issued 300 tons 

 27 Purchased 500 tons at Rs. 2.10 per ton 

 31 Issued 200 tons 

 RÌUPsh uPÁÀPÎ¼¸¢x FIFO •øÓ°À Qh[S 

÷£÷µmkU PnUQøÚz u¯õ›UP. 

áÚ 1 ¹. 2.00 Ãu® Áõ[Q¯x 500 hß 

 10 ¹. 2.10 Ãu® Áõ[Q¯x Áõ[Q¯x 300 hß 

 15 ÁÇ[Rk ö\´ux 600 hß 

 20 ¹. 2.20 Ãu® Áõ[Q¯x 400 hß 

 25 ÁÇ[Rk ö\´ux 300 hß 

 27 ¹. 2.10 Ãu® Áõ[Q¯x 500 hß 

 31 ÁÇ[Rk ö\´ux 200 hß 
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10. Priya Ltd, has the production departments ‘A’, ‘B’, 

and ‘C’ and two service departments ‘D’ and ‘E’. 

The following figures are extracted from the 

records of the company. 

 Rs. 

Rent and rates 5,000 

Indirect wages 1,500 

Depreciation of machinery 10,000 

General lighting 600 

Power 1,500 

Sundries 10,000 

 following further details are available. 

 Total A B C D E 

Floor space in square feet 10,000 2,000 2,500 3,000 2,000 500 

Light points 60 10 15 20 10 5 

Direct wages (Rs) 10,000 3,000 2,000 3,000 1,500 500 

H.P of machines 150 60 30 50 10 – 

Value of machinery (Rs) 2,50,00060,00080,0001,00,000 5,000 5,000

 Apportion the cost to various departments on the 

most equitable basis by preparing a primary 

departmental distribution summary. 



 UG–611 7 

 ¤›¯õ ¼ªöhm  ‘A’ , ‘B’ ©ØÖ® ‘C’ GÝ® ‰ßÖ 

EØ£zv xøÓPÐ® ‘D’ ©ØÖ® ‘E’ GÝ® Cµsk ÷\øÁ 

xøÓPøÍ²® öPõskÒÍx. A¢{ÖÁÚ HkPÎ¼¸¢x 

¤ßÁ¸® ÂÁµ[PÒ ö£Ó¨£mhÚ. 

 ¹. 

ÁõhøP ©ØÖ® ö\»ÄPÒ 5,000 

©øÓ•P T¼ 1,500 

C¯¢vµ ÷u´©õÚ® 10,000 

ö£õx ªß ÂÍUSPÒ 600 

Âø\ 1,500 

Cuµa ö\»ÄPÒ 10,000 

 RÌUPõq® TkuÀ ÂÁµ[PÒ ö£Ó¨£mhÚ. 

 ö©õzu® A B C D E 

Ch AÍÄ \xµ AiPÎÀ 10,000 2,000 2,500 3,000 2,000 500 

ªßÂÍUS GsoUøP 60 10 15 20 10 5 

÷|µiU T¼ (¹.) 10,000 3,000 2,000 3,000 1,500 500 

C¯¢vµ Âø\ (H.P) 150 60 30 50 10 – 

C¯¢vµ ©v¨¦ (¹.) 2,50,00060,00080,0001,00,000 5,000 5,000

 AvP£mh {¯õ¯ Ai¨£øh°À xøÓPÎÀ 

AhUPÂø»ø¯ £[Qh ÷uøÁ¯õÚ •ußø© 

xøÓÁõ› £QºÄ £mi¯ø» u¯õ›UPÄ®. 
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11. The following is the information relating to 

Contract No. 123 

 Rs. 

Contract Price 6,00,000 

Wages 1,64,000 

General Expenses 8,600 

Raw Materials 1,20,000 

Plant 20,000 

 As on the date, cash received was Rs. 2,40,000 

being 80% of work certified. The value of materials 

remaining at site was Rs. 10,000. Depreciate plant 

by 10%. Prepare contract account showing profit to 

be credited to P and L A/c. 

 J¨£¢u £o Gs 123&ß ÂÁµ[PÒ R÷Ç 

uµ¨£mkÒÍÚ : 

 ¹. 

J¨£¢uÂø» 6,00,000 

T¼ 1,64,000 

ö£õxa ö\»ÄPÒ 8,600 

‰»¨ö£õ¸mPÒ 1,20,000 

C¯¢vµ® 20,000 
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 A¢u ÷uv°À ¹. 2,40,000 £n® ö£Ó¨£mhx Ax 

£o •izuø©UPõÚ \õßÔuÀ ö£ØÓvÀ 80% BS®. 

‰»¨ ö£õ¸mPÒ £o ChzvÀ Gg]²ÒÍx.  

¹. 10,000. C¯¢vµzvß «x 10% ÷u´©õÚ® 

JxUP¨£mhx. J¨£¢u PnUøP u¯õ›zx C»õ£ 

|mh PnUQÀ ÁµÄ øÁUP ÷Ási¯ C»õ£zøu 

PnUQkP. 

12. The sales turnover and profit during two years 

were as follows : 

Year Sales Profit 

 Rs. Rs. 

2008 1,40,000 15,000 

2009 1,60,000 20,000 

 Calculate : 

 (a) P/V ratio 

 (b) Break-even point 

 (c) Sales required to earn a profit of Rs. 40,000 

 (d) Fixed expenses and 

 (e) Profit when sales are Rs. 1,20,000. 
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 Cµsk BskPÐUPõÚ ÂØ£øÚ ©ØÖ® C»õ£® 
R÷Ç uµ¨£mkÒÍÚ. 

Bsk ÂØ£øÚ C»õ£® 
 ¹. ¹. 

2008 1,40,000 15,000 

2009 1,60,000 20,000 

 PnUQkP : 

 (A) P/V ÂQu®  

 (B) C»õ£&|mh ©ØÓ ¦ÒÎ 

 (C) C»õ£® ¹. 40,000 Dmh ÷uøÁ¯õÚ ÂØ£øÚ 

 (D) {ø»¯õÚ ö\»ÄPÒ ©ØÖ® 

 (E) ÂØ£øÚ ¹. 1,20,000US C»õ£®. 

——––––––––– 


